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Ly = 5x°-3x°+ 3x>-2

3. y=350 + 247 +2
X

5.y = 4 senx - 3 cosx

7.y=4+ 2 -x* + 4

9. y = cos(3x)

11. y = sen (3x -2x)
13. y = sen (2x)
15. y = 3 sen’(2x-3)
17. y = cos (senx)

19. y=

2l. y

23. y=( 2 JE S )
25. y

27. y (

29. y=Jserr x+ (x-1)
31. y=

33. y=

35. y=

3. 7=

39. y=

41. y

43, y=In (x’-3x)
45. y=log, 3x%)

47. y=2°

48, y=3"

51, w3 gl

53. y=31g'x
55. y=x".1Inx
57. y=x'.¢"

DERIVADAS

2. y=x'+ 2+ x4

4. y=3 . 3 - m.x+ 3
2 3
6. y=2Jx+=+¢
X

8. y=g cosx - 3 /x

10. y = cos 9
12. y = cos(x)
4. y= cos, (3x)
16. y = cos (Sx )
18. y = cos ?(sen(3x))

20. y=3[cos’(x*)

22, y= (x2-3x)
24. y=4¥sen’x
y

26.
28. y=sen( 3~ 5x )
30. y=cos’( _r2—3\/;)
J2. y=i

34. y=

36. e/

38, y=—

40. y=

42. y=In(3x-1)
44, y=Inx-2

2

46, y=¢"
18. y=e¢"*

50. y=1g(x’)
52. y =1l
M. y=(x'-1).x-1)
56. y=¢* .cosx
58. y=¢"* . senx
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1
y = 2 Sen X 60. s
89. y=iny 'e, ¥ il
2 3 J .
61. y= = B2. y=lnx . ™™
x +1
!nx’ 3
63. y=( cos’ 3x - sen’ x ) e 64. y= Sz
rlnx
65, y=12% 66, y=Sinx
3" x* - senx
sen x _ [senx
67. y—ln( r ) 68. y e
R 70. y=(sen(e*) ) . cosx
, 2x-1
71. y=arcig(x’) 72. y=arcser. x’
73. y=1In(secx) 74. y=arctg(lnx)
75. y=arcsenx . ¢*” 76. y=arctg(e’)
+d
77. y=In = 78. y=arcsen( o = ]
g* e
79. y=In(arctg(5x)) 80. y=arctg\f;’-
81. y=35 arctg’ (senx) 82. y=gorcs(d)
_arcsen (3x-2) g4, y=JnX - tgx
=y =
85. y=x" 86. y=(senx)",
87. y=(cosx)"" 88. y=gorcielind
+2 4 eJ.t o
x
= 90. y=
08 In[ - ) ¢ [ sen.r]
senx-¢* fg‘\j;
= 10\ 3x-cosr 92. y=cos| ————
91. y 10(3;-:@5:] y ( Senﬂp;x))
g 5 1gx
93. y= - 94. y=cos (4¢") . hl[% ]
(lnx) 3

95.

= sen’(e") 26, y- etnm‘,m
“ arctg (cosx) gcos
= Ll X i |
97, y= c S(iv‘) 98. y=(:g(e )+ x')
Je
99’ y=J;‘C£gE( . COS X 100. y=‘r" ICOS_‘(

In (xz'X) sen (’ccan)




